(3
&g Real Life Maths Questions

Remember to:

@ Halving With Pim

« 3is15

« 5is25

| know half of 3, 5, 7, 9 as e 7is3.5
decimals .« 9is45

() Pom has 3kg of oranges. He shares them between two friends.
How many kilograms of oranges does each friend have?

2) Mully has £9. He shares it between two friends. How much
money does each friend have?

3) Pim has 7L of juice. He shares it between two friends. How
much juice does each friend have?

%) What s half of 52

(5)

Pim ran 2 laps and covered 5km. How far was each lap?

Setl




@
Bng Real Life Maths Answers

Remember to:

@ Halving With Pim

« 3is15

« 5is25

| know half of 3, 5, 7, 9 as e 7is3.5
decimals .« 9is45

() Pom has 3kg of oranges. He shares them between two friends.
How many kilograms of oranges does each friend have?
Each friend has 1.5kg of oranges.
2) Mully has £9. He shares it between two friends. How much
money does each friend have?
Each friend has £4.50.
3) Pim has 7L of juice. He shares it between two friends. How
much juice does each friend have?
Each friend has 3.5L of juice.
4) What s half of 5?
The answer is 2.5.
(5)

Pim ran 2 laps and covered 5km. How far was each lap?

Each lap is 2.5km.
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